SHARADA RESIDENTIAL SCHOOL, UDUPI
ENTRANCE EXAMINATION - CLASS VI

Duration : 2 hrs. SYLLABUS Max. Marks : 150

Note: This booklet consists of THREE parts. They are:

Part | English 40 mins. | 50 Marks
Part 11 Mathematics 40 mins. | 50 Marks
Part 11l | Kannada/Hindi 40 mins. | 50 Marks
(Any ONE Language)
ENGLISH

1. Choose the correct VERB given in bracket : Eg.: Your problems worry me. (Worry / Worries)

2. Fill in the blanks with correct form of VERBS :
Eg.: Nobody is interested in going for a picnic. (is / are)
3. Tense : Change as directed
Eg.: I have read an interesting novel. (Present Continuous Tense)

Ans : | am reading an interesting novel.

4. Synonym — Write similar words for the underlined :
Eg. : The women was not frightened. Ans : The women was afraid.

5. Parts of Speech : Pick out the parts of speech :
Eg. : The girl’s name is Sita. Ans : girl, Sita - Noun
6. Arrange the jumbled words :  Eg. : TNAIG  Ans: GIANT

7. Articles : Fill in the blanks with suitable articles (a, an, the) Eg. : I enjoyed the lunch.

8. Kinds of Sentences : Pick out the kinds of sentence

Eg. : Turn off your mobile. (Assertive Sentence)
9. Fill in the blanks with conjunction : Eg.: The cat is on the bed.
10.  Composition : Write few lines on the given topic :

Eg.: 1. My School 2. My Mother 3. My favourite game

MATHEMATICS

Syllabus to prepare :

1. Integers 4. Power and Roots
e Addition 5. Angles and Triangles
e Subtraction e Construction using compass
e Multiplication e Supplementary and Complementary angles
e Division 6. Perimeter and Area of plane figures
2. Fractions e Square
3. Decimals e Rectangle

Question paper pattern :
I Fill up the blanks :
Eg. : The sum of 14.5 and 3.06 is . [Ans : 17.56]

I Choose the correct answer :

Eg. : Among the following, an improper fraction is . [Ans : b)%]
2 7 1 11
a) — b) — c) 2= d —
) 3 ) 4 ) 5 ) 12

" Write TRUE or FALSE :
Eg.: The square of 4 is 2. [Ans : FALSE]
v Solve the following :

Eg.: If the length of the room is 16m and breadth 5m, find the area of the room.
Ans : 80 m? A=Il xb
16x5=80

[1x 10 = 10]

[1 x 10 = 10]

[1 x 10 = 10]

[2 x 10 = 20]
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